C:h Multiplying Using Arrays Name:

Usethearray provided to solve each problem. Answers

1) 59%68 = 2) 67x75=

1.

: : 2

: : 3,

____________________ - 5 4.

"""""""""""" 5,

6.
3) 53x36= 4) A2x55 =
5) 43x66 = 6) 44x28 =

16 [83]67[50[33][17] 0]
[ Math ] www.CommonCoreSheets.com 1




=

Multiplying Using Arrays Name:. Answer Key
Usethearray provided to solve each problem. Answers
1) 59x68 = 2) 67x75=
60 8 70 5 L 4,012
: : . 5025
50 i i
(50 x 60) (80 xB) !
3,000 1400 60 (60 x 70) (60 X 5) 3 1,908
: 4,200 Iéoo
____________________ L : 4, 2,310
° (9 x 60) Hx8
o N L x0T (3x5) 5 2,838
490 5
6. 1,232
3) 53x36= 4) A2x55 =
30 6 50 5
E 40 X : X
0| (50x30) (F0x§) (43,0030) (42005)
1,500 300 :
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) 18
5) 43x66 = 6) 44x28 =
60 6 20 8
40 (40 x 60) (45) x(6)
2,400 24( :
; 401 (40x20) (40x8§)
. 800 1320
3 fpmmmm--- (K60 1dx%B) :
180 18
4 [ a¥20) 1ax8)
80 7
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